Exam 6

Name: ______________________________



  Date: __________________________
1. The functions of the kidney include regulation of 
A. blood plasma pH.



B. blood plasma volume.
C. blood plasma electrolyte concentration.

D. All of the choices are correct.
 

2. Damage to which of the following neurons would impair micturition? 
A. parasympathetic neurons



B. sympathetic neurons
C. pudendal somatic motor neurons


D. All of the choices are correct.
 

3. The process of urination is called 
A. deglutition.




B. micturition.
C. incontinence.




D. glomerular filtration.
 

4. The __________ is the functional unit of the kidney. 
A. calyx





B. nephron
C. neuron





D. medulla
 

5. The __________ is a capillary network that produces a blood filtrate that enters the urinary tubules. 
A. vasa recta




B. peritubular capillary
C. glomerulus




D. interlobar capillary
 

6. The _______________ nephrons play an important role in producing concentrated urine. 
A. juxtamedullary




B. cortical
C. pelvic





D. calical
 

7. Which of the following is the correct order of the nephron tubule structures? 
A. distal convoluted tubule, loop of Henle, proximal convoluted tubule, Bowman's capsule
B. proximal convoluted tubule, Bowman's capsule, distal convoluted tubule, loop of Henle
C. Bowman's capsule, proximal convoluted tubule, loop of Henle, distal convoluted tubule
D. loop of Henle, Bowman's capsule, proximal convoluted tubule, distal convoluted tubule
 

8. Which sphincter is under voluntary control? 
A. internal urethral sphincter



B. external urethral sphincter
 

9. Which of the following is NOT a potential filtration barrier in the glomerular capsule? 
A. glomerular basement membrane


B. capillary fenestrae
C. parietal layer of the capsule


D. slit diaphragm
 

10. What type of cells form the third filtration barrier in the renal corpuscle? 
A. podocytes




B. ciliated cuboidal epithelial cells
C. capillary simple squamous epithelial cells

D. glomerulocytes
 

11. What is the order that filtrate must pass through to the glomerular capsule? 
A. podocytes of glomerular epithelium, glomerular basement membrane, capillary fenestrae
B. capillary fenestrae, glomerular basement membrane, podocytes of visceral glomerular epithelium
C. glomerular basement membrane, capillary fenestrae, podocytes of visceral glomerular epithelium
D. capillary fenestrae, podocytes of visceral glomerular epithelium, glomerular basement membrane
 

12. What is the net filtration pressure of the glomerular capillaries? 
A. 10 mm Hg inward



B. 15 mm Hg outward
C. 15 mm Hg inward



D. 10 mm Hg outward
 

13. The average glomerular filtration rate is equal to 
A. 180 L/day.




B. 5.5 L/min.
C. 100 mmHg/hour.



D. 8 mg/hour.
 

14. Increased sympathetic neuron activity will cause 
A. vasoconstriction of afferent arterioles.

B. increased GFR.
C. increased urine production.


D. decreased blood volume.
 

15. Hypotension would induce __________ of afferent arterioles. 
A. constriction

B. dilation

C. no change
 

16. Through renal autoregulation, an increase in blood pressure will cause the afferent arteriole to ____ and therefore the GFR will ____. 
A. dilate, not change.



B. dilate, decrease.
C. constrict, decrease.



D. constrict, not change.
 

17. The minimum urine volume needed to excrete metabolic wastes produced by the body is called the 
A. renal plasma threshold.



B. renal autoregulation.
C. obligatory water loss.



D. renal transport minimum.
 

18. The return of molecules from the tubules to the blood is called 
A. reabsorption.




B. secretion.
C. filtration.




D. autoregulation.
 

19. The majority of reabsorption occurs in the 
A. collecting duct.




B. distal convoluted tubule.
C. loop of Henle.




D. proximal convoluted tubule.
 

20. The obligatory water loss needed to excrete metabolic wastes is _____ per day. 
A. 300 mL




B. 400 mL
C. 600 mL





D. 800 mL
 

21. Na+ reabsorption is a(n) __________ process, while Cl- reabsoprtion is a(n) __________ process. 
A. active, active




B. active, passive
C. passive, passive




D. passive, active
 

22. The reabsorption of Na+ in the proximal tubule creates an osmotic gradient for the diffusion of _____ to occur. 
A. Cl-





B. H2O
C. K+





D. All of the choices are correct.
 

23. The __________ limb of the loop of Henle is impermeable to water. 
A. ascending




B. descending
C. both limbs




D. neither
 

24. The ____ limb of the loop of Henle is impermeable to salt. 
A. ascending




B. descending
C. both limbs




D. neither limb
 

25. The tubular filtrate osmolarity __________ as it flows through the ascending limb of the loop of Henle. 
A. increases

B. decreases

C. remains unchanged
 

26. Inhibition of the functions of the descending limb of the loop of Henle would stimulate 
A. decreased water reabsorption.


B. increased Na+ reasbsorption.
C. decreased Na+ reabsorption.


D. increased water reabsorption.
 

27. The concentration of renal filtrate is highest in the 
A. proximal convoluted tubule.


B. base of the Loop of Henle.
C. distal convoluted tubule.



D. cortical portion of the collecting duct.
 

28. Countercurrent multiplication occurs by the actions of the 
A. vasa recta.




B. peritubular capillaries.
C. loop of Henle.




D. Both vasa recta and loop of Henle are correct.
 

29. Urea transport in the collecting duct is a(n) __________ process. 
A. active





B. passive
C. exocytosis




D. endocytosis
 

30. Neurohypophyseal secretion of __________ stimulates formation of concentrated urine. 
A. aldosterone




B. renin
C. antidiuretic hormone



D. angiotensin I
 

31. Tubular ultrafiltrate enters the collecting duct from the 
A. glomerulus.




B. loop of Henle.
C. distal convoluted tubule.



D. proximal convoluted tubule.
 

32. Antidiuretic hormone 
A. stimulates water reabsorption by the kidney.

B. induces fusion of aquaporin containing vesicles with the plasma membrane.
C. is secreted in response to dehydration.

D. All of the choices are correct.
 

33. The ability of the kidneys to remove molecules from the blood plasma by excreting them in the urine is known as 
A. glomerular filtration.



B. renal clearance.
C. micturition.




D. reabsorption.
 

34. Which transporters in the proximal tubule are polyspecific and transport small molecules of drugs and toxins to the ultrafiltrate? 
A. water transporters



B. renal aquaporins
C. organic anion transporters



D. toxiporins
 

35. The movement of molecules and ions from the peritubular capillaries into interstitial fluid and then into the nephron tubule is called 
A. secretion.




B. reabsorption.
C. excretion.




D. filtration.
 

36. The renal plasma clearance of a substance that is filtered and secreted is ____ the GFR. 
A. greater than

B. less than

C. equal to
 

37. The renal plasma clearance of a substance that is filtered but not reabsorbed or secreted is ___ the GFR. 
A. greater than

B. less than

C. equal to
 

38. PAH actually measures 
A. glomerular filtration rate.



B. renal plasma clearance.
C. total renal blood flow.



D. transport maximum.
 

39. The _________________ is the saturation point of renal carrier molecules. 
A. transport maximum



B. GFR
C. renal plasma clearance



D. renal plasma threshold
 

40. People with diabetes mellitus have glycosuria because 
A. the total renal blood flow is low.


B. the plasma glucose concentration is greater than the renal plasma threshold.
C. they have inadequate amounts of ADH.

D. None of the choices are correct.
 

41. Inhibition of __________ secretion from the adrenal cortex stimulates hyperkalemia. 
A. aldosterone




B. renin
C. angiotensin I




D. angiotensin II
 

42. Diuretics 
A. increase urine production.



B. induce hypertension.
C. often act on the proximal convoluted tubule.

D. decrease urine production.
 

43. Due to the action of aldosterone, water is reabsorbed because 
A. sodium is excreted in the urine.


B. potassium is reabsorbed into peritubular blood.
C. sodium is reabsorbed into peritubular blood.

D. aldosterone opens aquapores.
 

44. Granular cells of the juxtaglomerular apparatus respond to decreased blood volume and increased sympathetic nerve activity by secreting 
A. renin.





B. inulin.
C. angiotensinogen.



D. natriuretic hormone.
 

45. The presence of renin secreting tumors may cause 
A. hypertension.




B. increased aldosterone secretion.
C. increased renal sodium reabsorption.

D. All of the choices are correct.
 

46. An inadequate dietary intake of NaCl will cause 
A. a rise in blood volume.



B. a rise in renal blood flow.
C. increased renin secretion.



D. decreased aldosterone secretion.
 

47. Aldosterone secretion from the adrenal cortex is stimulated by a(n) ____ in blood Na+ or a(n) ___ in blood K+. 
A. increase, decrease



B. increase, increase
C. decrease, increase



D. decrease, decrease
 

48. Changes in blood volume are detected by 
A. osmoreceptors in hypothalamus.


B. stretch receptors in the atria.
C. cells in the proximal convoluted tubule.

D. osmoreceptors in the medulla.
 

49. In response to alkalosis 
A. the kidney maximally reabsorbs bicarbonate.

B. the kidney excretes bicarbonate.
C. excess H+ enters the tubular filtrate.


D. tubular carbonic anhydrase is inhibited.
 

50. Bicarbonate must be converted to ____ to move into tubule cells to reduce blood pH. 
A. carbonic anhydrase



B. carbonic acid
C. carbon dioxide




D. None of the choices are correct.
 

51. Loop diuretics such as Lasix 
A. inhibit the actions of ADH.
B. add extra solutes to the filtrate.
C. inhibit active transport of salt out of the ascending limb of Henle loop.
D. inhibit salt transport in the first section of the distal tubule.
 

52. Thiazide diuretics 
A. inhibit the actions of ADH.
B. add extra solutes to the filtrate.
C. inhibit active transport of salt out of the ascending limb of Henle loop.
D. inhibit salt transport in the first section of the distal tubule and the last part of the ascending limb of Henle loop.
 

53. __________ is believed to be an autoimmune disease affecting the kidney. 
A. Pyelonephritis




B. Polycystic kidney
C. Glomerulonephritis



D. Cystitis
 

54. Renal insufficiency 
A. stimulates metabolic alkalosis.


B. often results from dialysis.
C. may occur as a result of arteriosclerosis.

D. stimulates hypokalemia.
 

55. Sertoli cells are stimulated by __________, while Leydig cells are stimulated by ________. 
A. FSH, LH




B. LH, FSH
C. testosterone, LH




D. FSH, testosterone
 

56. What occurs during spermiogenesis? 
A. chromosomes are compacted by protamines

B. flagellum and acrosome form
C. cytoplasm removed by Sertoli cells


D. All of the choices are correct.
 

57. After meiosis I in males, ________ are formed. 
A. primary spermatocytes



B. secondary spermatocytes
C. spermatids




D. spermatozoa
 

58. Which of the following is NOT a function of Sertoli cells? 
A. production of androgen-binding protein



B. FSH stimulation of spermiogenesis
C. protection of developing sperm from the male's immune system

D. production of testosterone
 

59. Removal of the ___________ would result in a lack of energy in the semen to support the sperm cells. 
A. seminal vesicles




B. prostate
C. testis





D. epididymis
 

60. Sperm are stored and matured in the 
A. vas deferens.




B. seminal vesicles.
C. epididymis.




D. prostate gland.
 

61. The movement of semen into the urethra is called 
A. emission.




B. erection.
C. ejaculation.




D. ovulation.
 

62. The most successful method of contraception is 
A. vasectomy.




B. oral contraceptives.
C. the rhythm method.



D. condom usage.
 

63. Which of the following is NOT a part of the female reproductive system? 
A. ductus deferens




B. uterus
C. labia majora




D. uterine tube
 

64. A follicle that does not complete development as a graafian follicle will 
A. rest until the next month.



B. continue meiosis.
C. become a primordial follicle.


D. undergo follicle atresia.
 

65. What is it called when a mature follicle ruptures and ejects the oocyte into the uterine tube? 
A. gestation




B. menstruation
C. ovulation




D. fertilization
 

66. What is formed following ovulation from the empty follicle due to LH influence? 
A. macula lutea




B. corpus luteum
C. fibroids




D. Graafian follicle
 

67. What hormone triggers ovulation? 
A. LH





B. FSHC.
C. progesterone




D. hCG
 

68. The ___________ phase of the endometrium is supported when the ovary is in the luteal phase. 
A. proliferative




B. secretory
C. menstrual




D. ovulatory
 

69. In the female menstrual cycle 
A. ovulation is stimulated by decreasing concentrations of progesterone.
B. menstruation occurs during the last four days of the cycle.
C. progesterone secretion is stimulated by LH.
D. the luteal phase is characterized by high circulating concentrations of estrogens.
 

70. What are the small cells produced by the uneven cytoplasmic divisions or oogenesis? 
A. thecal cells




B. follicles
C. antrum




D. polar bodies
 

71. Day 1 of the menstrual cycle is 
A. the day ovulation occurs.



B. the first day of the menses.
C. the last day of the menses.



D. the first day of the proliferative phase.
 

72. The LH surge causes 
A. menses.




B. ovulation.
C. endometrium build-up.



D. All of the choices are correct.
 

73. The Contraceptive Pill contains 
A. FSH.





B. estrogen.
C. progesterone.




D. estrogen and progesterone.
 

74. For the rhythm method to be successful, intercourse must not happen 
A. during the first 10 days of the menstrual cycle.
B. 6 days prior to ovulation through more than 1 day after ovulation.
C. during the last 10 days of the menstrual cycle.
D. Both during the first 10 days of the menstrual cycle and during the last 10 days of the menstrual cycle.
 

75. The secretion of gonadotropins (FSH and LH) will ___________ during menopause. 
A. increase

B. decrease

C. remain the same
